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HSSC MOCK TEST - 122 (SOLUTION)

D)14=(2x9-4)

26 =(2x15-4)

?=15
(A) As, Word is a group of letters. Similarly,
Book is a group of pages.

(D)
B F C L D T B Z
L+ L+ [+ L[t
+4 +9 + i 6 +f4
2° 3 4° not a perfect
square
(C) Sugandha is the daughter of the only son

of Arpit's grandfather. Hence, it's clear that
Sugandha is the sister of Arpit.

(A) The letters of the adjacent faces to the
face with letter A are B, F, C and E. Hence,
the letter (D) is opposite to the face with
letters (A).

same

(C) same same same same
LT Wy dy Wy #l
P, QR P,Q P,QT P,Q P,QV
T S N
+1 +1 +1 +1
(B) The seating arrangement is as follows:

[ ] [ ] [ ] [ ] [ ] [ ]
J K L M N I

Therefore, right of J is K.

(A) Sea is a part of Earth, while Sun is different

from these two.

(D) In all other figures, the number of dots
outside the main figure is one more than
the number of dots inside the main figure.

(©)

15 x40 B 2x6xD

(&) 1 2
D =100 days
(C) A — 30 2
B — 20 60
A+B+C—> 15 4

Efficiency of C = -1 unit/hr

Required time to C for empty the tank = 60 hr
~. Capacity of tank = 60 x 60 x 45

= 162,000 litres

Ph:

73.

74.

75.

76.

09555108888,

(A) Total population =60,000

M F
5% S%|[+ 4%
3000

- 4% = 2000
No. of females = 500 x 100 = 50,000
No. of males = 10,000

©)

Maths = 40%
English = 30%
Hindi = 50%
Maths and English = 25%
English and Hindi = 15%
Maths and Hindi = 22%
Maths, English, Hindi = 13%
% of students failed in at least one subject
=73%
Passed % = 27%
(D) Let the numbers be 3x and 2x

ATQ _2
’ 3

x
2x+20
9x=4x+40
Sx=40
x=8
.. Number of ladies = 24
(A) ATQ,

7
Quantity of milk = 3 x 40 = 35 litre

Quantity of water = 5 litre
Let x litres of water be mixed

35 3

S+x 1
3x+15=35
3x=20

2
x= 65 litres

099555208888
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3 3 X+y+z

77. (D) 30% = —— , 15% = ~—~ XTYTZ 45
10 20 3
CP SP MP x+y+z=3z+15

=x+y=3z-2z+15
=2z+15=x+y=39

17x13 20x13 =2z=39-15=24
200 221 260
| E— |

10x20 13x20

24 19
z= "7 = ears
. voe 2L 100 1058 2
Requlred proﬁt % = 200 x 100 = 10.5% 80. (B) Principal = 8000
78. (B) Original cost price of mixture S.I—> [400 400 400

10 2 Cl-—> |20 20 %1261
=— x20= 22— Cl— 20 ATQ,

2 K CI- 1 "2

2522

Ist t IInd t
T ape e . Total simple interest = 1200 x 2 = ¥ 2400

Mg

KD Meditech
IIT-JEEIMedicallFoundation

(C) 18. (D) 28. (A) 38. (B) 48. (A) 58. (A) 68. (A) 78. (B) 88. (C) 98. (D)
(C) 19. (C) 29. (C) 39. (C) 49. (B) 59. (A) 69. (D) 79. (C) 89. (B) 99. (B)
0. (B) 20. (B) 30. (B) 40. (A) 50. (B) 60. (A) 70. (C) 80. (B) 90. (B) 100.(C)

Be a Doctor
Engineer, CA-CPT
57
9
52
13:14
79. (C) ATQ,
N / Y for mor details
Vit ] e ] || ol e s com gt 011-45689721, 09555128888
HSSC MOCK TEST - 122 (ANSWER KEY)
1. (B) 11. (A) 21. (B) 31. (B) 41. (D) 51. (A) 61. (D) 71. (A) 81. (C) 91. (A)
2. (C) 12. (A) 22. (C) 32. (B) 42. B) 52. (D) 62. (A) 72. (C) 82. (C) 92. (A)
3. (A) 13. D) 23. (D) 33. (B) 43. (D) 53. (D) 63. (D) 73. (A) 83. (C) 93. (D)
4. (C) 14. (B) 24. (A) 34. (B) 44. (D) 54. (B) 64. (C) 74. (C) 84. (C) 94. (B)
5 () 15. B 25. (A) 35 (D) 45. (D) 55. B) 65 (A) 75. (D) 85. (C) 95. (C)
6. (B) 16. (A) 26. (D) 36. (C) 46. B) 56. (A) 66. (C) 76. (A) 86. (D) 96. (A)
7. (B) 17. (C) 27. (D) 37. (D) 47. (D) 57. B) 67. (B) 77. (D) 87. (D) 97. (C)
8.
9.
1

Note:- If your opinion differs regarding any answer, please message the mock
test and question number to 8860330003

Join the group and you may also share your suggestions and experience of Sunday Mock Tes

contact 9313111777
Ph: 0955510888, 0O9555208888

G\Tote Whatsapp with Mock Test No. and Question No. at 7053606571 for any of the doubts )
t

Note:- If you face any problem regarding result or marks scored, please )




